Potencias de 10 (G)

100+ 1000

89 = 1000

38+ 1000

821000

98 <1000

40 = 1000

321000

38 +1000

531000

301000

Calcule los siguientes cocientes.

321000

571000

74 <1000

73 <1000

331000

261000

95 =-1000

14 +1000

201000

311000

MatesLibres.Com




Potencias de 10 (G) Respuestas

Calcule los siguientes cocientes.

100+ 1000 321000
0.1 0.032
891000 571000
0.089 0.057
38+ 1000 74 1000
0.038 0.074
821000 73 +1000
0.082 0.073
98 = 1000 331000
0.098 0.033
40+ 1000 261000
0.04 0.026
321000 95 =+ 1000
0.032 0.095
38+ 1000 14 +1000
0.038 0.014
531000 201000
0.053 0.02
301000 311000
0.03 0.031
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